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Question 
number 

Correct response Comments Maximum 
points 
available for 
this question 

1 B  1 
2 B  1 
3 q = 3; r = 12; s = 3; t = 6 all correct for 1 mark 1 
4 E  1 
5 0.32 A  1 
6 E  1 
7 i)    E 

ii)   B 
iii)  A 
iv)  C 

all correct for 1 mark 1 

8 E  1 
9 7.2 m  1 
10 A & B both correct and no others for 1 mark 1 
11 B  1 
12 D  1 
13 D  1 
14 D  1 
15 i)    false 

ii)   false 
iii)  true 
iv)  false 
v)   false 

all correct for 1 mark 1 

16 B  1 
17 D  1 
18 D  1 
19 A, D & E all correct and no others for 1 mark 1 
20 C  1 
21 D  1 
22 F  1 
23 E  1 
24 C  1 
25 D  1 
26        mitosis     meiosis 

i                          
ii                         
iii                         
iv                         
v                         

4 or 5 correct for 1 mark 1 

27 C  1 
 




